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Guess Paper – 2012
Class – XII
Subject – Accountancy
ACCOUNTANCY                                             TIME: 3 HOURS                                             MARKS: 80
GENERAL INSTRUCTIONS:

1. This question paper contains three parts A, B & C.

2. Part A is compulsory for all candidates.

3. Candidates can attempt one part of the remaining parts B & C.

4. All part of the questions should be attempted at one place.

SET-2

PART-A

(NOT FOR PROFIT ORGANISATION, PARTNERSHIP AND COMPANY ACCOUNTS.)

1. How will you deal with legacy while preparing the accounts of a not for profit organization.                                                                                                                                  (1)
2. How will you calculate interest on drawings if a partner withdraws an equal amount at the end of every month?                                                                                                             (1)
3. How will the assets be applied in case of dissolution of firm?                                              (1)
4. Explain the basis of calculating share in profits of a deceased partner.                              (1)
5. What do you mean registered debentures?                                                                            (1)
6. How will you deal with the following items while preparing income and expenditure account for the year ending 31/3/2010?                                                                                  (3)
RECEIPTS AND PAYMENT ACCOUNT FOR THE YEAR ENDING 31/3/2010(EXTRACT)

	RECEIPTS
	AMOUNT
	PAYMENTS
	AMOUNT

	MEMBER’S SUBSCRIPTIONS

2008-09: 12,500

2009-10: 1,00,000

2010-11: 10,000
	1,22,500
	
	


                   ADDITIONAL INFORMATION: During 2009-10 the club had 225 members, each paying annual               subscription of Rs 500.Out of 30 members, who had not paid annual subscription during 2008-09, 25   members, cleared their arrears in 2009-10 and the arrears of remaining 5 members who left the club on         1/4/2009 were treated as irrecoverable.
7. Mohit Ltd took over assets of 840000 and liabilities of 80000 of Ram Ltd at an agreed value of 720000. Mohit ltd paid to Ram ltd 120000 through a bill of exchange and balance by issue of 9% debentures of Rs 100 each at premium of 20%.Journalize.       (3)
8. Z limited forfeited 200 equity shares of Rs 10 each issued @ 10% discount for nonpayment of first call of Rs 2 per share and final call of Rs 3 per share.100 forfeited shares were reissued as fully paid for Rs 8 per share. Journalize.                                      (3)
9.   A, B & C are partners in a firm. After the accounts were prepared, it was discovered that for the year 2009 and 2010 interest on capital has been allowed to partners @ 6 % p.a. although there was no provision for interest in the partnership deed. Their fixed capitals on which interest were calculated were 1, 00,000, 80,000 and 60,000 respectively. During the last years, they have shared profits as follows: 2009- 3:2:1                                    2010- 5:3:2. Pass necessary adjusting entry.                                                                         (4)
10. M, B & A are partners sharing profits and losses in the ratio of 2:2:1. B died on 30th June, 2011.On date of death goodwill of firm was valued at 1, 50,000. B was also entitled to share in profit up to the date of death on the basis of last year’s profit which was 50,000. Interest on capital is allowed @ 18% p.a. He withdrew 1000 per month for personal use. His capital on 31st March, 2011 was 20,000.Prepare B’s Capital account to be rendered to his executors.                                                                                                   (4)
11. On 1/4/2010 Z ltd. has outstanding 3000 6% debentures of 100 each. The company decided to purchase its own 600 debentures for immediate cancellation @ 92 per debenture. The expenses on purchase amounted to 600. The balance debentures were redeemed by converting in to 9% Preference Shares of 100 each issued @ premium of 20%. Pass necessary journal entries.                                                                                      (4)
12.  From the following Receipts and Payment account of Indian sports club, prepare Income and Expenditure Account for the year ending  31/12/2010 and Balance sheet as on 31/12/2009:                                                     
	RECEIPTS
	AMOUNT
	PAYMENTS 
	AMOUNT

	Balance b/d
	7890
	Salary
	11000

	Subscriptions
	52000
	Electric charges
	5500

	Life membership fees
	2200
	Billiards table
	17500

	Entrance fees
	3200
	Office expenses
	4100

	Tournament Fund
	26000
	Printing and stationery
	2300

	Locker rent
	1250
	Tournament expenses
	18500

	Sale of old sports equipment

(costing 2200)
	2500
	Fixed deposit

(on 1/10/10 for 10%p.a)
	30000

	Sale of old newspaper
	750
	Furniture 
	7700

	Legacy
	37500
	Sports equipment
	12000

	
	
	Repairs of ground
	2000

	
	
	Cash in hand
	12690

	
	
	Cash at bank
	10000

	
	133290
	
	133290


Additional information:

1. Subscription outstanding on 31/12/2009 is 1200 and on 31/12/2010 was 3200.

2. Outstanding for locker rent is 250 and for salary is 1000.

3. On 1/1/2010 club has building 36000, furniture 12000, sports equipment 17500 and depreciation on these items is to be charged @ 10%p.a.                                                      (6)
13. Mrs. Chopra and Mrs. Gupta are partners in a firm. Their Balance Sheet as on 31/3/2011 was as follows:

	Liabilities
	Rs.
	Assets
	Rs.

	Creditors
	75,000
	Cash
	6,000

	Employees’ Provident Fund
	30,000
	Bank
	30,000

	Mr. Chopra’s loan
	15,000
	Stock
	75,000

	Reserve fund
	12,000
	Book debts          66,000

Less : Provision     6,000
	60,000

	Joint Life Policy reserve
	12,000
	Plant & Machine
	45,000

	Mrs. Chopra’s capital
	90,000
	Land & Building
	48,000

	Mrs. Gupta’s capital
	30,000
	
	

	
	2,64,000
	
	2,64,000


The firm was dissolved on the date given above and following transactions took place:

1. Mrs. Chopra undertook to pay Mr. Chopra’s loan and took over 50% stock at 20% discount.

2. Book debts of 12000 proved bad and the balance of the stock was sold at 30% profit on cost.

3. Creditors were paid @ 10% discount.

4. Plant & Machine realized 30,000 more and Land & Building 150% more.

5. Mrs. Chopra took over the goodwill of firm at 30,000.

6. Realization expenses were 5,000

Prepare Realization account and Partners Capital Account.                                                     (6)
14. Pass necessary journal entries:
 a.  Z ltd issued 20000 10% debentures of 200 each issued at par redeemable at 10% premium       at the end of 4 years out of profits. There exists a balance of 22,00,000 in DRR. Pass necessary journal entries for redemption.

b.  Paid half yearly interest @ 15% on 15000 debentures of 100 each. Tax Deducted at Source is 10%.

c.  Issued 1000 10% debentures of 100 each as collateral against a bank loan of 80000 secured from Bank of India.                                                                                                                                 (6)
15. Anil limited invited applications for 4000 Equity shares of Rs 100 each @ 20% premium payable as on application Rs 30(including premium Rs 10), On allotment Rs 50(including Premium Rs 10) and balance in 2 equal installments over 2 calls. Applications were received for 6000 shares and allotment was made pro-rata to 80% applicants.

Kajol, to whom 80 shares were allotted, failed to pay the allotment money and first call. Her shares were immediately forfeited after first call.

Jaya an applicant of 144 shares failed to pay the 2 calls and her shares were forfeited.

Of the forfeited shares, 100 shares were re-issued to Kangana as fully paid for Rs 90 per share, the whole of kajol’s shares being included. Journalize.

                                                                                     OR                                                                                          (8)                                                                                                                                                    

a. UV limited issued 20,000 shares of Rs 10 @ 10% premium payable as follows:

    On application Rs 2 (1/1/2009)

    On Allotment Rs 4 (including premium on 1/4/2009)

    On First call Rs 3 (1/6/2009)

    On Final call Rs 2 (1/10/2009)

Applications were received for 18000 shares. One shareholder to whom 80 shares were allotted paid the entire balance on his holdings along with allotment money. Calculate interest on calls in advance as per Table A.
b. X limited is established with a registered capital of Rs 10, 00,000 divided in to shares of Rs 10 each.       The company invited applications for 50,000 shares. Applications for Rs 4, 00,000 shares were received. All calls were made and duly received except for final call of Rs 3 per share on 1000 shares held by Arun. 700 of his shares were forfeited. Show how the share capital will appear in the Balance sheet.                          
c. Amar limited forfeited 1500 shares of Rs 10 each (Rs 7 called) for nonpayment of allotment money of Rs 4 per share including premium Rs 1. Of these 1000 shares were reissued @ Rs 8 per share as Rs 7 called up. Pass entry for forfeiture and reissue. 
d. Z limited invited applications for 20000 shares of 10 each @ premium of 20% premium payable full on application. The issue was oversubscribed by 4000 shares and the allotment was made on prorata basis. Pass necessary journal entries.
16.  The Balance sheet of A & B sharing profits and losses equally as on 31/12/2010 is as follows:
	LIABILITIES
	AMOUNT
	ASSETS
	AMOUNT

	O/S expenses
	900
	Goodwill
	9000

	Sundry creditors
	5000
	Cash
	15500

	Provident Fund
	1000
	Debtors             5000

Less: PBDD          100
	4900

	Contingency reserve
	5400
	Stock
	9000

	Profit & loss account
	1200
	Investments( Market value 8700)
	9700

	Investment fluctuation fund
	1900
	Land & building
	15000

	A’s capital
	28600
	Profit & loss account
	900

	B’s capital
	20000
	
	

	
	
	
	

	
	64000
	
	64000


C is admitted as an equal partner on 1/1/2011 and following adjustments are agreed:

1.  The stock is written down to 8000.

2. PBDD be brought up to 300.

3. Land is brought up to 20000.

4. Out of insurance paid 2000 to be carried forward as unexpired insurance.

5. Sundry creditors agree to allow a discount of 200.

6. Investments to be valued at their market value.

7. Goodwill of the firm is valued at 9000 but goodwill is not to be raised.

8. C brings 30000 as his capital and necessary amount for goodwill in cash.

9. Partners decide to adjust their capitals taking C’s capital as base. Excess or deficit will be transferred to Current account.

Prepare Revaluation account, Partner’s capital account and Balance Sheet.

                                                                           OR                                                                                     (8)
X, Y & Z are partners sharing profits in 3:2:1. The Balance sheet is as follows:

	LIABILITIES
	AMT
	ASSETS
	AMT

	Creditors
	15000
	Goodwill
	6000

	EPF
	6000
	Bank
	5000

	Workmen compensation reserve
	12000
	Stock
	30000

	Investment fluctuation reserve
	6000
	Investments(market value 17600)
	15000

	Capitals:

A

B

C 
	68000

32000

21000
	Debtors             40000

Less: PBDD         2000
	38000

	
	160000
	Patents
	10000

	
	
	Plant
	50000

	
	
	Advertisement suspense
	6000

	
	160000
	
	160000


Z retired on following terms:

1. Goodwill of the firm is valued at 30000.

2. Patents are reduced by 20% and Plant to 90%.

3. PBDD be raised to 6%.

4. Investments are valued at market value.

5. Liability of provident fund was 3000

6. Z was to be paid half on retirement and remaining through Bill of Exchange.

7. Capital of partners is adjusted in the new ratio and excess or deficit be transferred to Bank.

Prepare necessary accounts and Balance sheet.

                                                               PART-B

                                     ANALYSIS OF FINANCIAL STATEMENTS
17. Is dividend paid by a finance company a cash flow from operating, investing or financing  activity and why?                                                                                                                                                                             (1)
18. If the debt equity ratio is 1:2 state giving reasons whether declaration of dividend will increase, decrease or not alter the ratio.                                                                                                                               (1)
19. State the basis of accounting on which Cash Flow Statement is prepared.                                              (1)
20. Prepare Comparative income statement.                                                                                                     (4)

	Particulars
	2011
	2010

	Sales 
	600000
	400000

	Gross Profit Ratio
	20%
	20%

	Carriage inward
	5000
	10000

	Indirect expenses
	30000
	20000

	Interest paid
	10000
	10000

	Tax rate
	50%
	40%


21. Calculate Return on investment from the following information:                                                           (3)

Share capital 20,00,000 Reserves 5,00,000 10% Loan 10,00,000 Net Profit after interest but before tax 12,00,000 Preliminary expenses 1,00,000 and Tax rate 50%.                         

22. Calculate Operating ratio, Quick Ratio, working capital turnover ratio and Debt equity ratio from      the following information:                                                                                                                                      (4)                                                                    

Equity share capital 1,00,000, 12% Preference share capital 80,000, 12% Debentures 60,000,            General Reserve 40,000 , Sales 3,00,000,  Opening stock 10,000,  Closing stock 30,000, Wages 30000                     Purchases 1, 20,000, Carriage outward 10,000, Office and administrative expenses 10,000,                 Other current assets  2, 00,000 and Current liabilities 1, 20,000.
23.  Calculate Cash Flow from Operating Activities from the following information:                            (6)                                   
	Liabilities
	2009
	2010
	Assets
	2009
	2010

	Equity share capital
	6,00,000
	8,00,000
	Goodwill
	2,30,000
	1,80,000

	15% Preference share capital
	3,00,000
	2,00,000
	Land and building
	4,00,000
	3,40,000

	General reserve
	80,000
	1,40,000
	10% Investments
	1,60,000
	4,00,000

	Profit & loss Alc
	60,000
	96,000
	Debtors
	3,20,000
	4,00,000

	10% public Deposits
	40,000
	32,000
	stock
	1,54,000
	2,18,000

	Creditors
	1,10,000
	1,66,000
	Bills receivable
	40,000
	60,000

	Provision for Tax
	80,000
	1,00,000
	Cash
	30,000
	20,000

	Proposed dividend
	84,000
	1,00,000
	Bank
	20,000
	16,000

	
	1354000
	1634000
	
	1354000
	1634000


       Additional information:

      1. Depreciation of 40,000 has been charged on land and building.

       2. An interim dividend of 40,000 has been paid
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